Document 487078

[ B GREENHECK

Buil ding Value in Air. Channel Installation with VCD-40 Damper

( )
Installation, Operation and Maintenance Manual

Please read and save these instructions for future reference. Read carefully before attempting to assemble, install,

operate or maintain the product described. Protect yourself and others by observing all safety information. Failure to

comply with these instructions will result in voiding of the product warranty and may result in personal injury and/or
\property damage.

J

Wind Load Table
Design Pressure Rating Maximum Single Section Size
+/- 150 PSF 43in. Wx 144 in. H
(7.2 kPa) (1092 mm W x 3658 mm H)
+/-130 49.5in. Wx 144 in. H
(6.2 kPa) (1257 mm W x 3658 mm H)
+/- 105 61.5iIn.Wx 144 in.H
(5.0 kPa) (15662 mm W x 3658 mm H)
+/- 90 72in. Wx 144 in. H
(4.3 kPa) (1829mm W x 3658 mm H)

T
-

- K6746MD Channel Installation with Damper -



Document 487078
K6746MD

Channel Installation with VCD-40 Damper

Maximum Size and Installation Information

Model K6746MD is a Miami-Dade Qualified and Florida Product Approved louver and must be installed in accordance
wit the installation instructions shown herin. Model K6746MD is qualified for installation within concrete/masonary, steel
stud, and structural steel framed building conditions. Model K6746MD is structurally calculated to withstand positive and
negative wind-loads up to 150 PSF. The maximum single section rough opening width is 36.75 in. The maximum single
section rough opening height is 144.50 in. While the maximum rough opening height is limited to 144.50 in., the rough
opening width is limited to 1,000 in. as multiple sections may be installed side by side in accordance with installation

instructions.

SINGLE SECTION

MULTIPLE SECTIONS

4
IE2E30e)
' '
* Pt * — —
< | - =l b
€ — € == —
5 § .
S & -
™ 1 A
A% a l
= == = ==
iy T LT T T L
(@) @] (&) (@]
o2 v
EI _TT ?I —T T
o £ o €
EZ €18 E2 €38
~Z 0>~ ~Z 0>
oy 83 gE 832
g 83n o g 536 (B o O
NI - 22 [ NI - 22 || [ ||
=8 I55 L 8 I35 L L L
-8 Te% =8 Te8
z 2z z 2z
= == = ==
€ €
£ £
£, ©,
< [ Al <~ L A L A
TEE RO (1626369
* [ | - * [ A I A
»L%p’ [6mm], TYP AT MULLION
3/8" [10mm], TP 36" [914mm] 3/8” [10mm], TYP 36" [914mm], TYP
MAX ACTUAL SECTION WIDTH MAX ACTUAL SECTION WIDTH
3/ 36" [914mm)] 34” [10mm] —s—f=e——— UNLIMITED, MAX ACTUAL LOUVER WIDTH — =
g7 [10mm], TYP 8
’ MAX ACTUAL LOUVER WIDTH
3 ”
3674" [933mm] l«—— UNLIMITED, ROUGH OPENING WIDTH —— =

MAX ROUGH OPENING WIDTH

Minimum Rough Maximum Single Section
Opening Size Rough Opening Size
12in. W x 15.25 in. H 36.75in. W x 144.50 in. H

Building Condition/Substrate Limitations

e All structural steel and steel stub substrate shall be min. 0.125 in. thick FY = 36 KSI

e All concrete substrate shall be min. 3000 PSI
e Concrete masonary shall be ASTM C90, Type Il, 2000 PSI, grout-filled

3/8”
[10mm]

K6746MD Channel Installation with Damper m



HEAD DETAIL, CHANNEL FRA

Document 487078
K6746MD
Channel Installation with VCD-40 Damper

ME W/DAMPER

EXTRUDED ALUMINUM HEAD
‘ ‘ SEALING (**) \/
,)/ EXTRUDED ALUMINUM DAMPER HEAD
? s MANUAL QUADRANT ACTUATOR, STYLE MAY VARY, OTHER TYPES AVAILABLE,
INTERIOR VIEW UPPER RIGHT CORNER, TALL DAMPERS REQUIRE TWO
£ o / ACTUATORS, PLATED STEEL FINISH, FACTORY ATTACHED
:% = v 5
A ] | ALUMINUM DAMPER CLOSURE
5—'¢ | ]
SEE — | DAMPER BLADE SEAL
£ —
i — | EXTRUDED ALUMINUM DAMPER BLADE
= I
28e L | DAMPER BLADE AXLE ASSEMBLY
59 // EXTRUDED ALUMINUM DAMPER JAMB
o <> | —
L | DAMPER DRIVE LINKAGE
- 4 /
5 S - | STAINLESS STEEL DAMPER JAMB SEAL
T
=z |t
© ()
°
£ o9
o v 6.00 [152mm
ER 00 15z —f
T =
T
o Q@
= W
% T
—
&3 O
- 5
5 <
2 = Q) G) ]
¥ I 4 . / \
o ~————— SUBSTRATE “£—5 =
L i e
T ’ \ /\“ -
. TQ!* ,
= Z "STRUCTURE DEPTH", DICTATES
3 ANCHOR SOLUTION & PARTS DURING
S EXTRUDED ALUMINUM DAMPER SILL ORDERING PROCESS. VALUE EQUALS
£ o.x EXTRUDED ALUMINUM DAMPER FLANGE AND =~ SUBLS%X%? ‘EN?EERRK‘)%R FZACCEE <TWOH‘CH -
= TEK SCREW, AROUND DAMPER FRAME
EE= PERIVETER. FACTORY ATTACHED MAY INCLUDE FASCIA/INSULATION/ETC
5-E \ ON EXTERIOR FACE OF SUBSTRATE)
S
£
e 52 EXTRUDED ALUMINUM BLADE
Bes
280 T cxrRupED ALUMINUM SILL
Eom (*) TYPICAL VALUE IS THE STANDARD
&£ o DOWNSIZING VALUE WHEN ORDERED
‘ BASED ON ROUGH OPENING, MAXIMUM
VALUE IS THE MAXIMUM ALLOWED BY
ZG . THE MIAMI—DADE NOTICE OF
f ‘\L ACCEPTANCE (NOA).
SEALING & SHIMS (**)
(**) SEALING, NON—COMPRESSIBLE
DEAD—LOAD SHIMS, AND SEPARATION OF
B SILL DETAIL, CHANNEL FRAME W/DAMPER DISSIMILAR MATERIALS ARE BY OTHERS.
SEALANT IS REQUIRED AROUND EACH

SECTION TO COMPLY WITH AMCA 550
HIGH VELOCITY WIND DRIVEN RAIN TEST.

MANUAL QUADRANT ACTUATOR, VCD-40 DAMPER HAS TO BE IN THE
1/4-20x1 [25mm] TEK SCREW, 6" [152mm] STYLE MAY VARY, OTHER TYPES CLOSED POSITION TO BE COMPLIANT TO
CENTERS, TYPICAL ALONG JAMBS, SHIP LOOSE AVAILABLE, INTERIOR VIEW UPPER AMCA 550 HIGH VELOCITY WIND DRIVEN

’ ' |a— RIGHT CORNER, TALL DAMPERS RAIN.

#50, JAMB SUBSTRATE ANCHOR, ON
CENTER SPACING IS DEPENDENT ON
ANCHOR AND SUBSTRATE TYPE, TYPICAL
AT JAMBS, BY OTHERS, SEE MIAMI-DADE
NOTICE OF ACCEPTANCE (NOA) ANCHOR
TABLE FOR DETAILS

EDGE
DISTANCE

REQUIRE TWO ACTUATORS, PLATED
STEEL FINISH, FACTORY ATTACHED

~— EXTRUDED ALUMINUM DAMPER SILL
EXTRUDED ALUMINUM DAMPER JAMB
|« STAINLESS STEEL DAMPER JAMB SEAL

ALTERNATE }

EDGE DISTANCE

>~ EXTRUDED ALUMINUM DAMPER BLADE
' DAMPER BLADE AXLE ASSEMBLY

1.25x1.5x0.125 [3mm] EXTRUDED ALUMINUM

ALTERNATE INVERTED ANGLE ORIENTATION,
ALLOWS GREATER EDGE DISTANCE, /

CAUTION: ANCHOR HEAD MAY INTERFERE

WITH LOUVER INSTALLATION AND/OR FIT)

EXTRUDED ALUMINUM JAMB —|

SEALING (**) ~

LOUVER PERIMETER JOINT (*),
0.375 [10mm] TYP & MAX

A
|
—— LLOUVER WIDTH, ACTUAL WIDTH, SECTION WIDTH ———

CONTINUOUS MOUNTING ANGLE, TYPICAL AT
JAMBS, MILL FINISH, SHIP LOOSE

RIVET, SECURES DAMPER TO LOUVER
FOR SHIPMENT, FACTORY ATTACHED.

ROUGH OPENING WIDTH

JAMB DETAIL, CHANNEL FRAME W/DAMPER

K6746MD Channel Installation with Damper m



HEAD DETAIL, MULLION, CHANNEL FRAME W/DAMPER
ROUGH OPENING HEIGHT <96.5” [2451mm]

Document 487078
K6746MD
Channel Installation with VCD-40 Damper

EDGE DISTANCE —m— =
‘ ‘ /SEAUNG (%)
) . . ‘ VCD—40 DAMPER ASSEMBLY, FACTORY ATTACHED
[y
1S ———
i * M 1/4-20x1.75 [44mm] BOLT & NUT, 18” [457mm] CENTERS ALONG MULLION,
£ % } SHIP LOOSE
~a
= = G| 4” [102mm] EXTRUDED ALUMINUM MULLION SUPPORT C—CHANNEL ASSEMBLY,
5?? | o) @‘/} |~ MILL FINISH, SHIP LOOSE
T
- £§ \ Il \ 2x5.25x0.25 [6mm] EXTRUDED ALUMINUM, MULLION JAMB ANGLE, MILL FINISH,
[ I I Il4—  FACTORY ATTACHED
5 | Il 1
w0 0
£ 2N ! ! | 41 0.75 [19mm] MIN, TO ANGLE EDGE
I ] o
o g o | | |
o | 1K |
z | | J | 2.375 [60mm] MAX, CHANNEL PAST ANGLE
I (= | I
S o
¢ | | I |
2
S } H I (*) TYPICAL VALUE IS THE STANDARD DOWNSIZING VALUE
% L 1 } WHEN ORDERED BASED ON ROUGH OPENING, MAXIMUM
Q- VALUE IS THE MAXIMUM ALLOWED BY THE MIAMI—DADE
T
NOTICE OF ACCEPTANCE (NOA).
o 3 ’<76.oo [152mm]4>' (Now
z = (**) SEALING, NON—COMPRESSIBLE DEAD—LOAD SHIMS, AND
e % oI ‘ SEPARATION OF DISSIMILAR MATERIALS ARE BY OTHERS.
© 2 } SEALANT IS REQUIRED AROUND EACH SECTION TO COMPLY
3 2 | WITH AMCA 550 HIGH VELOCITY WIND DRIVEN RAIN TEST.
> . |
Q £ | VCD—40 DAMPER HAS TO BE IN THE CLOSED POSITION TO
o | BE COMPLIANT TO AMCA 550 HIGH VELOCITY WIND DRIVEN
o | RAIN.
. |
|
()
R T\ TEK SCREW, ALONG DAMPER FLANGE, FACTORY ATTACHED
= :%é |
z" = |
Q?E ||l —— TEK SCREW, ALONG MULLION ANGLE, FACTORY ATTACHED
o
@8: #53, MULLION END PLATE SUBSTRATE ANCHOR, QUANTITY AND TYPE IS
Yoo | DEPENDENT ON SUBSTRATE TYPE, BY OTHERS, SEE MIAMI—DADE NOTICE OF
35 ACCEPTANCE (NOA) ANCHOR TABLE FOR DETAILS
b s
a
4x21x0.25 [6mm] ALUMINUM MULLION END PLATE, TYPICAL AT HEAD AND
‘ 5 |a— SILL MILL FINISH,” SHIPS FACTORY WELDED TO MULLION
)= P 1 [ ‘ |
* ‘ N—SEAUNG & SHIMS (**) \
SHIM (*+)
SILL DETAIL, MULLION, CHANNEL FRAME W/DAMPER
ROUGH OPENING HEIGHT <96.57 [2451mm] _
€
£ =
2 %5 MANUAL QUADRANT ACTUATOR, STYLE MAY VARY,
=20 OTHER TYPES AVAILABLE, INTERIOR VIEW UPPER RIGHT
0%z CORNER, TALL DAMPERS REQUIRE TWO ACTUATORS,
2x5.25x0.25 [6mm] EXTRUDED ALUMINUM, MULLION JAMB ANGLE, 53 PLATED STEEL FINISH, FACTORY ATTACHED
MILL FINISH, FACTORY ATTACHED o
; 4x21x0.25 [6mm] ALUMINUM MULLION END PLATE,
4" [102mm] EXTRUDED ALUMINUM MULLION SUPPORT [y TYPICAL AT HEAD AND SILL, MILL FINISH, SHIPS
C—CHANNEL ASSEMBLY, MILL FINISH, SHIP LOOSE \ | I FACTORY WELDED TO MULLION C—CHANNELS
A J/ 777777777777
o o o N [H o o
liw
e i R N i — —— —
1/4-20x1.75 [44mm] BOLT & NUT, 18" [457mm] CENTERS, _ | R | A SUBSTRATE WALL | EDGE
CHANNEL & ANGLE HOLES ARE FIELD DRILLED, SHIP LOOSE o€ ™ SHIM | DISTANCE
e) o o o e nEZ e 3 A~ ¥
} co= Q) 2 2 2 ;
! bR C= 14 >—
= La| — oAl ‘
7777777 77777777 - s - -0 =
EXTRUDED ALUMINUM DAMPER BLADE M~ VCD—40 DAMPER ASSEMBLY

#53, MULLION END PLATE SUBSTRATE ANCHOR, QUANTITY
AND TYPE ARE DEPENDENT ON SUBSTRATE TYPE, BY OTHERS,
SEE MIAMI-DADE NOTICE OF ACCEPTANCE (NOA) ANCHOR
TABLE FOR DETAILS

LT

1

o TEK SCREW, ALONG MULLION ANGLE, FACTORY ATTACHED

MULLION GAP (*), 0.25 [6mm] TYP, 0.25 [6mm] MAX

SECTION WIDTH

SEALING (**)

SECTION WIDTH

I
LOUVER WIDTH, ACTUAL WIDTH,

ROUGH OPENING WIDTH

MULLION DETAIL, CHANNEL FRAME W/DAMPER

E1

ROUGH OPENING HEIGHT <96.5” [2451Tmm]

K6746MD Channel Installation with Damper m



HEAD DETAIL, MULLION, CHANNEL FRAME W/DAMPER

ROUGH OPENING HEIGHT <96.5" [2451mm]

Document 487078
K6746MD
Channel Installation with VCD-40 Damper

i« 0.57 [15mm] MIN, TO PLATE EDGE
4_#0.75 [19mm] MIN, TO ANGLE EDGE

l VCD—40 DAMPER ASSEMBLY, FACTORY ATTACHED
T
%zomm [44mm] BOLT & NUT, 18" [457mm] CENTERS ALONG
MULLION, SHIP LOOSE

4” [102mm] EXTRUDED ALUMINUM MULLION SUPPORT C—CHANNEL
|~ ASSEMBLY, MILL FINISH, SHIP LOOSE

2x5.25x0.25 [6mm] EXTRUDED ALUMINUM, MULLION JAMB ANGLE,

la—  MILL FINISH, FACTORY ATTACHED
[l 0.75 [19mm] MIN, TO ANGLE EDGE

} 2.375 [60mm] MAX, CHANNEL PAST ANGLE
|

[T SILL FLANGE OF VCD—40 DAMPER

| —— TEK SCREW, ALONG MULLION ANGLE, FACTORY ATTACHED

4x21x0.25 [6mm] ALUMINUM MULLION END PLATE, TYPICAL AT
HEAD AND SILL MILL FINISH, SHIPS FACTORY WELDED TO MULLION

1/4-20x1.5 [38m] BOLT & NUT, 6 PER END PLATE, USE PLATE'S

OFFSETS, SHIP LOOSE

=T SHM (¥5)

#54, MULLION ANGLE BRACKET SUBSTRATE ANCHOR, QUANTITY AND TYPE ARE
DEPENDENT ON SUBSTRATE TYPE, BY OTHERS, SEE MIAMI-DADE NOTICE OF
ACCEPTANCE (NOA) ANCHOR TABLE FOR DETAILS

ALUMINUM ANGLE BRACKET, 21" [533mm] LONG, STYLE VARIES PER SUBSTRATE, USED
IF MULLION END PLATE’S SUBSTRATE ANCHOR EDGE DISTANCE CANNOT BE MET, SEE

MULLION LAYOUT CONFIGURATIONS FOR DETAILS, MILL FINISH, SHIPPED LOOSE

SILL DETAIL, MULLION, CHANNEL FRAME W/DAMPER

/

4x21x0.25 [6mm] ALUMINUM MULLION
END PLATE, TYPICAL AT HEAD AND SILL,
MILL FINISH, SHIPS FACTORY WELDED TO

ROUGH OPENING HEIGHT <96.5" [2451mm]

1/4—20x1.5 [38m] BOLT & NUT, 6 PER END PLATE, USE PLATE'S HOLES AS
GUIDE FOR FIELD DRILLED HOLES IN ANGLE, SEE EDGE OFFSETS, SHIP LOOSE

ALUMINUM ANGLE BRACKET, 21" [533mm] LONG, STYLE VARIES PER

SUBSTRATE, USED IF MULLION END PLATE'S SUBSTRATE ANCHOR
EDGE DISTANCE CANNOT BE MET, SEE MULLION LAYOUT
CONFIGURATIONS FOR DETAILS, MILL FINISH, SHIPPED LOOSE

+ SEALING (**) =
B x
5 “o'g
b =
T z©& =
o E
z S EE
o £o
= Ho-
= 9 B
I # Yoo
57288
T E Sod
o o &
bl L
z T 6.00 [152
z = ’<7 [ mm]——’
a <
o E - ]
b =<
5 2 o2
3= 27
¥ LT S—E
o
T oEso
o
)
= 2388
S W°s i
Py :
2GS I |
* \ZSEAUNG & £DGE =
SHIMS (**) DISTANCE

(*) TYPICAL VALUE IS THE STANDARD DOWNSIZING VALUE WHEN ORDERED
BASED ON ROUGH OPENING, MAXIMUM VALUE IS THE MAXIMUM ALLOWED BY
THE MIAMI—DADE NOTICE OF ACCEPTANCE (NOA).

(**) SEALING, NON—COMPRESSIBLE DEAD—LOAD SHIMS, AND SEPARATION OF
DISSIMILAR MATERIALS ARE BY OTHERS. SEALANT IS REQUIRED AROUND EACH
SECTION TO COMPLY WITH AMCA 550 HIGH VELOCITY WIND DRIVEN RAIN TEST.

VCD—40 DAMPER HAS TO BE IN THE CLOSED POSITION TO BE COMPLIANT TO
AMCA 550 HIGH VELOCITY WIND DRIVEN RAIN.

2x5.25x0.25 [6mm] EXTRUDED ALUMINUM, MULLION
JAMB ANGLE, MILL FINISH, FACTORY ATTACHED

MANUAL QUADRANT ACTUATOR, STYLE MAY VARY,
OTHER TYPES AVAILABLE, INTERIOR VIEW UPPER RIGHT
CORNER, TALL DAMPERS REQUIRE TWO ACTUATORS,

PLATED STEEL FINISH, FACTORY ATTACHED

~
MULLION C—CHANNELS | ™ O O <!>

—_
Tl |

/ HOLES AS GUIDE FOR FIELD DRILLED HOLES IN ANGLE, SEE EDGE

SUBSTRATE WALL \

#54, MULLION ANGLE BRACKET SUBSTRATE ANCHORS
NOT SHOWN, BY OTHERS, SEE MIAMI-DADE NOTICE OF
ACCEPTANCE (NOA) ANCHOR TABLE FOR DETAILS

i

1/4—20x1.75 [44mm] BOLT & NUT, 18" [457mm] CENTERS,
CHANNEL & ANGLE HOLES ARE FIELD DRILLED, SHIP LOOSE

4" [102mm] EXTRUDED ALUMINUM MULLION SUPPORT C—CHANNEL
ASSEMBLY, MILL FINISH, SHIP LOOSE

\— TEK SCREW, ALONG MULLION ANGLE, FACTORY ATTACHED

!

MULLION GAP (*), 0.25 [Bmm] TYP, 0.25 [6mm] MAX

SEALING (*+)

SECTION WIDTH

SECTION WIDTH

LOUVER WIDTH, ACTUAL WIDTH, ROUGH OPENING WIDTH

MULLION DETAIL, CHANNEL FRAME W/DAMPER

E2

ROUGH OPENING HEIGHT <96.5" [2451mm]

K6746MD Channel Installation with Damper m




Document 487078
K6746MD
Channel Installation with VCD-40 Damper

HEAD DETAIL, MULLION, CHANNEL FRAME W/DAMPER
ROUGH OPENING HEIGHT >96.5" [2451mm]

EDGE
‘ /SEAUNG (**) DISTANCE VCD—40 DAMPER ASSEMBLY, FACTORY ATTACHED

< 0

1/4—-20x1.5 [38mm] TEK SCREW, 18" [457mm] CENTERS ALONG MULLION,
SHIP LOOSE

3x6x0.313 [8mm] STEEL, MULLION SUPPORT TUBE ASSEMBLY, PERMATECTOR

/ FINISH, SHIP LOOSE

1.5x6x0.125 [3mm] EXTRUDED ALUMINUM, MULLION JAMB ANGLE, MILL FINISH,
/ FACTORY ATTACHED

o |-

. -l

t— 1.0 [25mm] MIN, TO ANGLE EDGE

|
[——

0.25 [Bmm] TYP,
0.375 [10mm] MAX

— 4.25 [108mm] MAX, TUBE PAST ANGLE
|
|

o]

maser < Dﬁ

SECTION HEIGHT —————————— ==
PERIMETER JOINT (*),

L 4444\44444 I g

(*) TYPICAL VALUE IS THE STANDARD DOWNSIZING VALUE WHEN ORDERED
BASED ON ROUGH OPENING, MAXIMUM VALUE IS THE MAXIMUM ALLOWED BY

. 6.00 [152mm] THE MIAMI-DADE NOTICE OF ACCEPTANCE (NOA).
= T (**¥) SEALING, NON—COMPRESSIBLE DEAD—LOAD SHIMS, AND SEPARATION OF
DISSIMILAR MATERIALS ARE BY OTHERS. SEALANT IS REQUIRED AROUND EACH
SECTION TO COMPLY WITH AMCA 550 HIGH VELOCITY WIND DRIVEN RAIN TEST.

VCD—40 DAMPER HAS TO BE IN THE CLOSED POSITION TO BE COMPLIANT TO
AMCA 550 HIGH VELOCITY WIND DRIVEN RAIN.

T

I

ROUGH OPENING HEIGHT

[ TEK SCREW, ALONG DAMPER FLANGE, FACTORY ATTACHED

| — TEK SCREW, ALONG MULLION ANGLE, FACTORY ATTACHED

#51, MULLION END PLATE SUBSTRATE ANCHOR, QUANTITY AND TYPE IS
| —— DEPENDENT ON SUBSTRATE TYPE, BY OTHERS, SEE MIAMI—DADE NOTICE OF
ACCEPTANCE (NOA) ANCHOR TABLE FOR DETAILS

6x26.5x0.313 [673mm] STEEL MULLION END PLATE, TYPICAL AT HEAD
| AND SILL, PERMATECTOR FINISH, SHIPS FACTORY WELDED TO MULLION

PERIMETER JOINT (*),
0.25 [Bmm] TYP,
0.375 [10mm] MAX

-—— | OUVER HEIGHT, ACTUAL HEIGHT,

AT 1 T I

‘\L s )
SEALING & SHIMS (++)

SILL DETAIL, MULLION, CHANNEL FRAME W/DAMPER
ROUGH OPENING HEIGHT >96.5" [2451mm]

) |-

INTEGRAL LIFT LUG ON HEAD & SILL END PLATES

3x6x0.313 [8mm] STEEL, MULLION SUPPORT TUBE ASSEMBLY,
PERMATECTOR FINISH, SHIP LOOSE

1/4-20x1.5 [38mm] TEK SCREW, 18" [457mm]
CENTERS ALONG MULLION, SHIP LOOSE

6x26.5x0.313 [8mm] STEEL MULLION END PLATE, MANUAL QUADRANT ACTUATOR, STYLE MAY VARY,

TYPICAL AT HEAD AND SILL, PERMATECTOR FINISH, OTHER TYPES AVAILABLE. INTERIOR UPPER RIGHT
SHIPS FACTORY WELDED TO MULLION CORNER, TALL DAMPERS REQUIRE TWO ACTUATORS,
SUBSTRATE WALL SHIM (%) PLATED STEEL FINISH, FACTORY ATTACHED
-’ ____ 2 g y
* o o o o o o o o
EDGE
DISTANCE
= —

| £l |

| o2 |a— VCD—40 DAMPER ASSEMBLY |

1 o 0 Qé o) o 1

| 0 I |

! @) @) 7 ) o= I @) @) 7 ) '

f 2 = =7 £ ~ = = =7 == f

I I

- I | N | a7/ | N | _J

1.5x6x0.125 [3mm] EXTRUDED ALUMINUM, MULLION
#51, MULLION END PLATE SUBSTRATE ANCHOR, JAMB ANGLE, MILL FINISH, FACTORY ATTACHED
QUANTITY AND TYPE IS DEPENDENT ON SUBSTRATE

TYPE, BY OTHERS, SEE MIAMI-DADE NOTICE OF

ACCEPTANCE (NOA) ANCHOR TABLE FOR DETAILS

/

TEK SCREW, ALONG MULLION ANGLE, FACTORY ATTACHED

)

i |

MULLION GAP (%), 0.25 [6mm] TYP, 0.25 [6mm] MAX SEALING (**)

SECTION WIDTH T SECTION WIDTH

LOUVER WIDTH, ACTUAL WIDTH, ROUGH OPENING WIDTH
MULLION DETAIL, CHANNEL FRAME W/DAMPER
ROUGH OPENING HEIGHT >96.5" [2451Tmm]

K6746MD Channel Installation with Damper m



HEAD DETAIL, MULLION, CHANNEL FRAME W/DAMPER
ROUGH OPENING HEIGHT >96.5" [2451mm]

Document 487078
K6746MD
Channel Installation with VCD-40 Damper

{=—0.75 [19mm] MIN, TO PLATE EDGE
h0.75 [19mm] MIN, TO ANGLE EDGE

VCD—40 DAMPER ASSEMBLY, FACTORY ATTACHED
/ 1/4-20x1.5 [38mm] TEK SCREW, 18” [457mm] CENTERS ALONG

MULLION, SHIP LOOSE

3x6x0.313 [8mm] STEEL, MULLION SUPPORT TUBE ASSEMBLY,

1.5x6x0.125 [3mm] EXTRUDED ALUMINUM, MULLION JAMB ANGLE,
MILL FINISH, FACTORY ATTACHED

/ PERMATECTOR FINISH, SHIP LOOSE
L

1.0 [25mm] MIN, TO ANGLE EDGE

——

t 4.25 [108mm] MAX, TUBE PAST ANGLE
|

[ SILL FLANGE OF VCD—40 DAMPER

| —— TEK SCREW, ALONG MULLION ANGLE, FACTORY ATTACHED
6x26.5x0.313 [673mm] STEEL MULLION END PLATE, TYPICAL AT HEAD

/ AND SILL, PERMATECTOR FINISH, SHIPS FACTORY WELDED TO MULLION

1/4-20x1.5 [38m] BOLT & NUT, 8 PER END PLATE, USE PLATE'S
HOLES AS GUIDE FOR FIELD DRILLED HOLES IN ANGLE, SEE EDGE

OFFSETS, SHIP LOOSE

SHIM (*+)

#52, MULLION ANGLE BRACKET SUBSTRATE ANCHOR, QUANTITY AND TYPE ARE /
DEPENDENT ON SUBSTRATE TYPE, BY OTHERS, SEE MIAMI-DADE NOTICE OF

ACCEPTANCE (NOA) ANCHOR TABLE FOR DETAILS

ALUMINUM ANGLE BRACKET, 21" [533mm] LONG, STYLE VARIES PER SUBSTRATE, USED /
IF MULLION END PLATE'S SUBSTRATE ANCHOR EDGE DISTANCE CANNOT BE MET, SEE
MULLION LAYOUT CONFIGURATIONS FOR DETAILS, MILL FINISH, SHIPPED LOOSE

SILL DETAIL, MULLION, CHANNEL FRAME W/DAMPER
ROUGH OPENING HEIGHT >96.5" [2451mm]

1/4—20x1.5 [38m] BOLT & NUT, 8 PER END PLATE, USE PLATE'S HOLES AS
GUIDE FOR FIELD DRILLED HOLES IN ANGLE, SEE EDGE OFFSETS, SHIP LOOSE

-
ALUMINUM ANGLE BRACKET, 26.5" [673mm] LONG, STYLE VARIES EZ
PER SUBSTRATE, USED IF MULLION END PLATE'S SUBSTRATE o=
ANCHOR EDGE DISTANCE CANNOT BE MET, SEE MULLION LAYQUT o
CONFIGURATIONS FOR DETAILS, MILL FINISH, SHIPPED LOOSE —
L\
o o ol\d + I
6x26.5x0.313 [8mm] STEEL MULLION X i‘m\uﬁt\\u\\m\n\s
END PLATE, TYPICAL AT HEAD AND
SILL, PERMATECTOR FINISH, SHIPS

FACTORY WELDED TO MULLION

#52, MULLION ANGLE BRACKET SUBSTRATE ANCHORS
NOT SHOWN, BY OTHERS, SEE MIAMI-DADE NOTICE OF
ACCEPTANCE (NOA) ANCHOR TABLE FOR DETAILS

T

+ /SEAUNG (**)
o 1| -
T
= |
= % X
I tog |
o e
T Z E
5 JEf
= %@9
=g R/
5 0 Yoo
o RN
e Ee
¢ 8 "
Ee= ’<76‘OO 152 ——'
z [152mm]
o <
[} 2 -
> <
5 O
g5 Zﬁg
% gEg
T xfe
x T
Y 242
g Es?
2 oo
¢ + 7 I T =t ‘
* \ZSEAUNG& EDGE 5
SHIMS (**) DISTANCE

(*) TYPICAL VALUE IS THE STANDARD DOWNSIZING VALUE WHEN ORDERED
BASED ON ROUGH OPENING, MAXIMUM VALUE IS THE MAXIMUM ALLOWED BY
THE MIAMI—DADE NOTICE OF ACCEPTANCE (NOA).

(**) SEALING, NON—COMPRESSIBLE DEAD—LOAD SHIMS, AND SEPARATION OF
DISSIMILAR MATERIALS ARE BY OTHERS. SEALANT IS REQUIRED AROUND EACH
SECTION TO COMPLY WITH AMCA 550 HIGH VELOCITY WIND DRIVEN RAIN TEST.

VCD—40 DAMPER HAS TO BE IN THE CLOSED POSITION TO BE COMPLIANT TO
AMCA 550 HIGH VELOCITY WIND DRIVEN RAIN.

INTEGRAL LIFT LUG ON HEAD & SILL END PLATES
3x6x0.313 [8mm] STEEL, MULLION SUPPORT TUBE ASSEMBLY,
PERMATECTOR FINISH, SHIP LOOSE

MANUAL QUADRANT ACTUATOR, STYLE MAY VARY,

OTHER TYPES AVAILABLE, INTERIOR UPPER RIGHT
/ CORNER, TALL DAMPERS REQUIRE TWO ACTUATORS,

PLATED STEEL FINISH, FACTORY ATTACHED

)

O O O

e 1/4-20x1.5 [38mm] TEK SCREW, 18" [457mm]

— -
— -

CENTERS ALONG MULLION, SHIP LOOSE E & E B
| jye¥al Eocnn
o-W—otFw
SZY TZw
n =0 Lﬂ}j

~ =z ~
c <_ o %

]
9]

\ TEK SCREW, ALONG MULLION ANGLE, FACTORY ATTACHED

1.5x6x0.125 [3mm] EXTRUDED ALUMINUM, MULLION
JAMB ANGLE, MILL FINISH, FACTORY ATTACHED

MULLION GAP (*), 0.25 [6mm] TYP, 0.25 [6mm] MAX

SEALING (**)

SECTION WIDTH, SILL PAN WIDTH

SECTION WIDTH, SILL PAN WIDTH

LOUVER WIDTH, ACTUAL WIDTH, ROUGH OPENING WIDTH

MULLION DETAIL, CHANNEL FRAME W/DAMPER

ROUGH OPENING HEIGHT >96.5" [2451mm]

K6746MD Channel Installation with Damper -



Document 487078
K6746MD
Channel Installation with VCD-40 Damper
MOUNTING: CHANNEL FRAME, AT MULLION END PLATE

ROUGH OPENING HEIGHT: < 96.57 [2451mm]

SUBSTRATE: CRACKED CONCRETE, MIN 57 [127mm] THICK

LOUVER TO MULLION
% ANCHOR ‘ " CONNECTION NOT SHOWN

A“ booc)i@ OoooOENDPLATE

FDGE DISTANCE (40) MULLION

— . _———————
e 21.0 [533mm]

<§ E é SEE MIAMI=DADE NOA ANCHOR TABLE FOR DETAILS

o o ~ ANCHOR B3A: W/Z@ HILTI KWIK BOLT T/Z2, 300 SS, 4 EA
o < o

<« M

MOUNTING: CHANNEL FRAME, AT MULLION END PLATE
ROUGH OPENING HEIGHT: < 96.5”7 [2451mm]

SUBSTRATE: STEEL, MIN 0.1257 [3.2mm] THICK

LOUVER TO MULLION
% ANCH‘OR ~~ CONNECTION NOT SHOWN
SR S

END PLATE
EDGE DISTANCE

[ [ )

c ¢ ? 21.0 [533mm];—

<§ E é SEE MIAMI=DADE NOA ANCHOR TABLE FOR DETAILS

9 o ~ ANCHOR 53G: W/ZL—ML (OR ZO) SCREW (\NCLUDES ELCO B\—FLEX)
Q O o OR W/ZL—ZO BOLT, 300 5SS, 6 EA

O : )

< M

ALL ITEMS THIS PAGE: FACTORY PROVIDES PILOT OR FULL SIZE HOLES
AT REQUIRED LOCATIONS PER SELECTED SUBSTRATE. NON—REQUIRED
HOLES MAY STILL BE PRESENT IN MULLION END PLATE AND ANGLE.
OTHER HOLES & PATTERNS CAN BE USED IF ANCHOR ON—-CENTER &

EDGE DISTANCE REQUIREMENTS ARE MET. ANCHOR PATTERS SHALL BE
MIRRORED WHEN POSSIBLE.

K6746MD Channel Installation with Damper m



Document 487078
K6746MD
Channel Installation with VCD-40 Damper

MOUNTING: CHANNEL FRAME, AT MULLION MOUNTING ANGLE
ROUGH OPENING HEIGHT: < 96.57 [245Tmm]

SUBSTRATE: CRACKED CONCRETE, MIN 57 [127mm] THICK

| 1/4=20x1.75 BOLT
MULLION @0)_ | SHIM, BY
END PLATE | @& NUT, 6/PLAT OTHERS

|
N

| MULLION
\ \ ANGLE
ANCHOR, BY OTHERS

‘ INTERIOR VIEW, HEAD & SILL SIMILAR

e~ 210 [533mm] ——— ]

I .

[
o
ol

[
o
ol

[
o

L l(\ !
o
Al

o [s==4

[
LA

@

% % SEE MIAMI—DADE NOA ANCHOR TABLE FOR DETAILS
0 ©  ANCHOR 54A: 1/2¢ HILTI KWIK BOLT TZ2, 300 SS, 4 EA
- O
° 3 MULLION @
LOUVER 0.563
N @ ~— [ 14mm]
- MIN ‘ 0.375
¥ J \ :/\\ | [10mm]
T 0.75 MAX
EDGE DISTANCE | |—m] Lpgmm]
/// MIN
@ ANCHOR EDGE DISTANCE
IS ACHIEVED WHEN TOP
AT ANCHOR LOCATIONS: \. OF ANGLE IS FLUSH
ENTIRE HEIGHT OF ANGLE 4881 WITH SUBSTRATE
IS AGAINST SUBSTRATE
OR LOAD BEARING SHIM
-/

ALL ITEMS THIS PAGE: FACTORY PROVIDES PILOT OR FULL SIZE HOLES
AT REQUIRED LOCATIONS PER SELECTED SUBSTRATE. NON—REQUIRED
HOLES MAY STILL BE PRESENT IN MULLION END PLATE AND ANGLE.
OTHER HOLES & PATTERNS CAN BE USED IF ANCHOR ON—-CENTER &

EDGE DISTANCE REQUIREMENTS ARE MET. ANCHOR PATTERS SHALL BE
MIRRORED WHEN POSSIBLE.

K6746MD Channel Installation with Damper m



Document 487078
K6746MD
Channel Installation with VCD-40 Damper

MOUNTING: CHANNEL FRAME, AT MULLION MOUNTING ANGLE
ROUGH OPENING HEIGHT: < 96.57 [2451Tmm]
SUBSTRATE: STEEL, MIN 0.1257 [3.2mm] THICK

]
]

END PLATEQ MULLION @0 | || | 1/4-20x1.75 BOLT — gpim, By
) 49 | N N UR 6/PLATE/.

OTHERS
‘ . T

I I I I
I I I I
‘ 5= 5= 5= 5= s

=

[mE

=

418B2

‘ L oo
MULLION

(54F/C) ANCHOR, BY OTHERS ANGLE

INTERIOR VIEW, HEAD & SILL SIMILAR

e~ 210 [533mm] ———

SEE MIAMI—DADE NOA ANCHOR TABLE FOR DETAILS

ANCHOR 54F: 0.160” THICK, 1/4—20 SCREW (INCLUDES ELCO BI=FLEX)
OR BOLT, 300 SS, 6 EA (SHOWN)

ANCHOR 54G: 0.125” THICK, 5/16—18 BOLT, 300 SS, 2 EA

MULLION
58 0.563

LOUVER
N @ ~— [ 1 4mm]
q MIN

= L] =t | [10mm]

=4 0.75 MAX
N e

AT ANCHOR LOCATIONS:
ENTIRE HEIGHT OF ANGLE 4882
IS AGAINST SUBSTRATE i
OR LOAD BEARING SHIM

7

ALL ITEMS THIS PAGE: FACTORY PROVIDES PILOT OR FULL SIZE HOLES
AT REQUIRED LOCATIONS PER SELECTED SUBSTRATE. NON—REQUIRED
HOLES MAY STILL BE PRESENT IN MULLION END PLATE AND ANGLE.
OTHER HOLES & PATTERNS CAN BE USED IF ANCHOR ON—-CENTER &
EDGE DISTANCE REQUIREMENTS ARE MET. ANCHOR PATTERS SHALL BE
MIRRORED WHEN POSSIBLE.

6.0 [152mm]
2.0 [51mm]

K6746MD Channel Installation with Damper m



Document 487078
K6746MD
Channel Installation with VCD-40 Damper

MOUNTING: CHANNEL FRAME, AT MULLION MOUNTING ANGLE
ROUGH OPENING HEIGHT: < 96.57 [2451mm]
SUBSTRATE: GROUT FILLED CMU, 8" [203mm] NOMINAL

1/4=20x1.75 BOLT LM BY
END PLATE MULLION (40) Il @& NUT, 6/PLATE/. OTHERS

\‘ /‘\
]

“ ks inf
MULLION
ANGLE
@ @
@ ANCHOR, BY OTHERS

© © ©

INTERIOR VIEW, HEAD & SILL SIMILAR

e~ 2710 [533mm] ——

SEE MIAMI=DADE NOA ANCHOR TABLE FOR DETAILS
ANCHOR 54E: W/ HILTI HY-100 EPOXY & 5/8¢ THREAD ROD, 300 SS, 6 EA

MULLION
LOUVER @ 0.563
N ~— [ 14mm]

inf js=icg ks

inf js=icg fi=cf hsi

—

13.0 [330mm]

4.125 [105mm]

= " I MIN + 0.375

7 1 ——— . ‘ [10mm]
s | 075 b ax
\= - [ 19mm]|

_~ EDGE "DISTANCE i

ANCHOR EDGE DISTANCE
IS ACHIEVED WHEN TOP
OF ANGLE IS FLUSH
WITH SUBSTRATE

ENTIRE HEIGHT OF ANGLE
IS AGAINST SUBSTRATE
OR LOAD BEARING SHIM 48B3

£

ALL ITEMS THIS PAGE: FACTORY PROVIDES PILOT OR FULL SIZE HOLES AT REQUIRED
LOCATIONS PER SELECTED SUBSTRATE. NON—=REQUIRED HOLES MAY STILL BE
PRESENT IN MULLION END PLATE AND ANGLE. OTHER HOLES & PATTERNS CAN BE
USED IF ANCHOR ON—-CENTER & EDGE DISTANCE REQUIREMENTS ARE MET. ANCHOR
PATTERS SHALL BE MIRRORED WHEN POSSIBLE.

AT ANCHOR LOCATONS:%

oo

- K6746MD Channel Installation with Damper m



Document 487078
K6746MD
Channel Installation with VCD-40 Damper

MOUNTING: CHANNEL FRAME, AT MULLION END PLATE
ROUGH OPENING HEIGHT: > 96.57 [2451mm]

SUBSTRATE: CRACKED CONCRETE, MIN 67 [152mm] THICK

LOUVER TO MULLION
¢ END PLATE -~ CONNECTION NOT SHOWN

- o o O O - o 1o
@] @] @] @] EDGE
ANCHOR (1) MULLION DISTANCE

- 265 [673mM] — ]

SEE MIAMI=DADE NOA ANCHOR TABLE FOR DETAILS
ANCHOR 51A: 5/8® HILTI KWIK BOLT TZ2, 300 SS, 4 EA

6.0 [152mm]
1.125 [29mm]
4.875 [124mm]

MOUNTING: CHANNEL FRAME, AT MULLION END PLATE
ROUGH OPENING HEIGHT: > 96.5" [2451mm]
SUBSTRATE: STEEL, MIN 0.1257 [3.2mm] THICK

LOUVER TO MULLION
¢ END PLATE ~~ CONNECTION NOT SHOWN
| O '
- O O O O O o 1o
o o o o EDGE
(G1F/H ANCHOR (1) muLLION DISTANCE
,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,,, .
v ‘ O O O O O O O O {

o~ 265 [673mm] ——— e

SEE MIAMI=DADE NOA ANCHOR TABLE FOR DETAILS
ANCHOR 51F: 1/4—14 (OR 20) SCREW (INCLUDES ELCO BI—FLEX)

OR 1/4—20 BOLT, 300 SS, 8 EA (SHOWN)
ANCHOR 51H: 5/16—18 BOLT, 300 SS, 6 EA

6.0 [152mm]
1.125 [29mm]
4.875 [124mm]

ALL ITEMS THIS PAGE: FACTORY PROVIDES PILOT OR FULL SIZE HOLES AT REQUIRED
LOCATIONS PER SELECTED SUBSTRATE. NON—REQUIRED HOLES MAY STILL BE
PRESENT IN MULLION END PLATE AND ANGLE. OTHER HOLES & PATTERNS CAN BE

USED IF ANCHOR ON—CENTER & EDGE DISTANCE REQUIREMENTS ARE MET. ANCHOR
PATTERS SHALL BE MIRRORED WHEN POSSIBLE.

K6746MD Channel Installation with Damper m



Document 487078
K6746MD
Channel Installation with VCD-40 Damper

MOUNTING: CHANNEL FRAME, AT MULLION MOUNTING ANGLE
ROUGH OPENING HEIGHT: > 96.57 [2451Tmm]

SUBSTRATE: CRACKED CONCRETE, MIN 67 [152mm] THICK

‘ | 1/4-20x1.75 BOLT
MULLION | & NUT, 8/PLATE

3 | SHIM, BY
END PLATE | 1 [@ OTHERS
,7 ! 1 ¥ H 7 \
1| i

I
MULLION
V O O O O ANGLE
ANCHOR, BY OTHERS

INTERIOR VIEW, HEAD & SILL SIMILAR

| 965 [673mM] - o

—r1]
|

fail
o
o
ol
o
o
o
O
e
1l

1)

g I
o

[ B
o
1l
[
ai
ol
o
o

—
el

§ % SEE MIAMI—DADE NOA ANCHOR TABLE FOR DETAILS
D ©  ANCHOR 52A: 1/2¢ HILTI KWIK BOLT TZ2, 300 SS, 5 EA
(\I [ —
o 2 MULLONQ
00
LOUVER 0.75
N @ ﬂ ~— [ 19mm]
= H . MIN ; 0.375
il 3 \\ ;/\‘ Ualﬁxm]
0.75 f
EDGE D\STANCE L[qgmm}

MIN

%
ymy

W ANCHOR EDGE DISTANCE

AT ANCHOR LOCAT\ONS IS ACHIEVED WHEN TOP
ENTIRE HEIGHT OF ANGLE/ OF ANGLE IS FLUSH

IS AGAINST SUBSTRATE \. WITH SUBSTRATE
OR LOAD BEARING SHIM 48A1

I

ALL ITEMS THIS PAGE: FACTORY PROVIDES PILOT OR FULL SIZE HOLES
AT REQUIRED LOCATIONS PER SELECTED SUBSTRATE. NON—REQUIRED
HOLES MAY STILL BE PRESENT IN MULLION END PLATE AND ANGLE.
OTHER HOLES & PATTERNS CAN BE USED IF ANCHOR ON—-CENTER &
EDGE DISTANCE REQUIREMENTS ARE MET. ANCHOR PATTERS SHALL BE
MIRRORED WHEN POSSIBLE.

K6746MD Channel Installation with Damper m



Document 487078
K6746MD
Channel Installation with VCD-40 Damper
MOUNTING: CHANNEL FRAME, AT MULLION MOUNTING ANGLE
ROUGH OPENING HEIGHT: > 96.57 [2451mm]

SUBSTRATE: STEEL, MIN 0.144”7 [3.7mm] THICK

‘ ‘ 1/4—20x1.75 BOLT
MULLION & NUT, 8/PLATE

@ SHIM, BY
) ) ) , OTHERS

‘ ‘ ¥y J
e e ————— X A

MULLION
ANGLE
Q O O O O
ANCHOR, BY OTHERS INTERIOR VIEW,

Y HEAD & SILL SIMILAR

END PLATE

]
]

o
1l
i€
oy
1=
i€
=
Iai|
[ie
=i
1l

|
|
=

A .

o
Fail
i@
ui
Fal
16
|
Fail

— g o 965 [673mm]— ]
% § SEE MIAMI—DADE NOA ANCHOR TABLE FOR DETAILS
N 1O ANCHOR 52H: 0.160” THICK, 1/4—20 SCREW (INCLUDES ELCO BI—FLEX)
~ OR BOLT, 300 SS, 10 EA (SHOWN)
o S ANCHOR 52J: 0.144” THICK, 5/16—18 BOLT & NUT, 300 SS, 3 EA
S«
MULUON
LOUVER 0.75
N qw ~— [ 19mm]
MIN ; 0.375
0.75 f MAX
EDGE DISTANCE
. F—#[Wé%ﬁm]

MIN

7.

AT ANCHOR LOCATIONS:
ENTIRE HEIGHT OF ANGLE/

IS AGAINST SUBSTRATE
OR LOAD BEARING SHIM

/

ALL ITEMS THIS PAGE: FACTORY PROVIDES PILOT OR FULL SIZE HOLES
AT REQUIRED LOCATIONS PER SELECTED SUBSTRATE. NON—REQUIRED
HOLES MAY STILL BE PRESENT IN MULLION END PLATE AND ANGLE.
OTHER HOLES & PATTERNS CAN BE USED IF ANCHOR ON—-CENTER &
EDGE DISTANCE REQUIREMENTS ARE MET. ANCHOR PATTERS SHALL BE
MIRRORED WHEN POSSIBLE.

K6746MD Channel Installation with Damper m



Document 487078
K6746MD
Channel Installation with VCD-40 Damper

MOUNTING: CHANNEL FRAME, AT MULLION MOUNTING ANGLE
ROUGH OPENING HEIGHT: > 96.57 [2451mm]
SUBSTRATE: GROUT FILLED CMU, 8”7 [203mm] NOMINAL

MULLION | | 1/4-20x1.75 BOLT
| | & NUT, 8/PLATE SHIM, BY
P % 1 @\ / (38 JheRs
RS | E [ W |
48A3
MULLION

I
ANGLE

e
I
o
e
i
i
e
=i
[isi
e
i
i
)

“ =4 == =4 =

O O O
ANCHOR, BY OTHERS

—
]

4.125 [105mm]

© © © ©

INTERIOR VIEW, HEAD & SILL SIMILAR

e~ 065 [673mM]—— ]

SEE MIAMI—=DADE NOA ANCHOR TABLE FOR DETAILS
ANCHOR 52E: HILTI HY-100 EPDOXY & 5/8¢ THREADED ROD, 300 SS, 8 EA

MULLION 0.75
19mm]

LOUVER\ —— [
j /@ i ‘ 0.575

5 J [10mm]

. 14.0 [356mm)]

™ |
= 0.75
/?/ F—#[M}mm]

//EDGE DISTANCE VIN
//% ANCHOR EDGE DISTANCE
IS ACHIEVED WHEN TOP
AT ANCHOR LOCATIONS: BEE OF ANGLE IS FLUSH
ENTIRE HEIGHT OF ANGLE WITH SUBSTRATE
IS AGAINST SUBSTRATE

OR LOAD BEARING SHIM

| ///fw\@

ALL ITEMS THIS PAGE: FACTORY PROVIDES PILOT OR FULL SIZE HOLES AT REQUIRED
LOCATIONS PER SELECTED SUBSTRATE. NON—REQUIRED HOLES MAY STILL BE
PRESENT IN MULLION END PLATE AND ANGLE. OTHER HOLES & PATTERNS CAN BE
USED IF ANCHOR ON—=CENTER & EDGE DISTANCE REQUIREMENTS ARE MET. ANCHOR
PATTERS SHALL BE MIRRORED WHEN POSSIBLE.

- K6746MD Channel Installation with Damper m

MAX




Document 487078
K6746MD

Channel Installation with VCD-40 Damper

OPTIONAL ALUMINUM PERIMETER FLANGE

OPTIONAL AC OR DC ACTUATOR OR NONE,
l.— MANUAL QUADRANT IS STANDARD

OPTIONAL BIRD SCREEN IN ALUMINUM FRAME

Structure Depth
CMU/Concrete Substrate
e Min. structure depth 8.75 in.
e Max. structure depth infinite

Steel Stud/Structural Steel Substrate
e Min. structure depth 7.5 in.

e Max. structure depth infinite

K6746MD Channel Installation with Damper m



Document 487078
K6746MD
Channel Installation with VCD-40 Damper
MULLION END PLATE MOUNT (SHOWN AT HEAD):

FOR SUBSTRATES WHERE MINIMUM FASTENER EDGE DISTANCE CAN BE ACHIEVED BY USE OF HOLES
IN' THE MULLION END CAP. SHOWN CONFIGURATION IS FOR ROUGH OPENING HEIGHTS < 96.5” [2451mm].

OPTIONAL ALUMINUM PERIMETER FLANGE

e@lly ALUMINUM JAMB ANGLE FOR SUBSTRATE ANCHORS
ALUMINUM MULLION END PLATE

OPTIONAL AC OR DC ACTUATOR OR NONE,
l.—" MANUAL QUADRANT IS STANDARD

OPTIONAL BIRD SCREEN IN
ALUMINUM  FRAME

TWO ALUMINUM C—CHANNELS AT MULLION,
FACTORY PROVIDED, FIELD INSTALLED

g

ALUMINUM MULLION END PLATE

ALUMINUM MULLION MOUNTING ANGLE FOR THIN SUBSTRATE,
AS REQUIRED

MULLION MOUNTING ANGLE (SHOWN AT SILL):
FOR SUBSTRATES WHERE MINIMUM FASTENER EDGE DISTANCE CANNOT BE ACHIEVED BY USE OF HOLES
IN' THE MULLION END CAP. SHOWN CONFIGURATION IS FOR ROUGH OPENING HEIGHTS < 96.5" [2451mm)].

Structure Depth
CMU Substrate
e Min. structure depth 8.75 in.
e Max. structure depth infinite in.

Concrete Substrate
e  Min. structure depth 8.25 in.
e Max. structure depth infinite

Steel Stud/Structural Steel Substrate
e  Min. structure depth 7.5 in.
e Max. structure depth infinite

K6746MD Channel Installation with Damper



Document 487078
K6746MD
Channel Installation with VCD-40 Damper
MULLION END PLATE MOUNT (SHOWN AT HEAD):

FOR SUBSTRATES WHERE MINIMUM FASTENER EDGE DISTANCE CAN BE ACHIEVED BY USE OF HOLES
IN' THE MULLION END CAP. SHOWN CONFIGURATION IS FOR ROUGH OPENING HEIGHTS > 96.57 [245Tmm)].

OPTIONAL ALUMINUM PERIMETER FLANGE

o@& ALUMINUM JAMB ANGLE FOR SUBSTRATE ANCHORS
STEEL MULLION END PLATE

OPTIONAL AC OR DC ACTUATOR OR NONE,
l.—" MANUAL QUADRANT IS STANDARD

OPTIONAL BIRD SCREEN IN
ALUMINUM FRAME

STEEL TUBE AT MULLION, FACTORY PROVIDED,
FIELD INSTALLED

STEEL MULLION END PLATE

ALUMINUM MULLION MOUNTING ANGLE FOR THIN SUBSTRATE,
AS REQUIRED

MULLION MOUNTING ANGLE (SHOWN AT SILL):
FOR SUBSTRATES WHERE MINIMUM FASTENER EDGE DISTANCE CANNOT BE ACHIEVED BY USE OF HOLES
IN' THE MULLION END CAP. SHOWN CONFIGURATION IS FOR ROUGH OPENING HEIGHTS > 96.57 [245Tmm].

Structure Depth
CMU Substrate
e Min. structure depth 8.75 in.
e Max. structure depth 14.25 in.

Concrete Substrate
e  Min. structure depth 8.25 in.
e Max. structure depth infinite

Steel Stud/Structural Steel Substrate
e  Min. structure depth 7.5 in.
e Max. structure depth infinite

K6746MD Channel Installation with Damper m



Document 487078
K6746MD
Channel Installation with VCD-40 Damper

GROUT MIN
mem | CRACKED 4 cyven | sree. | MW THICK- ANCHOR TYPE ALL FASTENERS ARE STAINLES STEEL
CONCRETE VALUE
CcMU NESS
, MIN SUBSTRATE
ITEM 52: JAMB PERIMETER ANGLE ANCHOR, ALL HEIGHTS DIAMETER | #REQD CENTERS EMBED. MIN EDGE (3)
52A X 3KSl 47 (1) HILTI KWIK HUS EZ (KH-EZ), 300 SS 3/8 VARIES MINMAX 2.5” NOM. 15
52E X 15Kksl | 37(1) DEWALT AGGRE-GATOR, 300 SS 1/4” VARIES 63 m‘( 2" NOM. 2
., BOLT OR SCREW, 300 SS, ) " , "
52F X A36 1/8” (1) INCLUDES ELGO BI-FLEX 1/4-20 VARIES 6” MAX 1/8 3/4
52H X A36 1/8” (1) BOLT, 300 SS 5/16-18 VARIES 6" MAX 1/8” 3/4”
ITEM 53: MULLION END PLATE ANCHOR, ROUGH OPENING HEIGHT > 96.5” DIAMETER | #REQ'D | MIN CENTERS VN S
: 2 > 90 EMBED. MIN EDGE (3)
53A X 3Ksl 6" (1) HILTI KWIK BOLT TZ2, 300 SS 5/8” 4/PLATE | 75”&9"MIN |  3.25” NOM. g
) BOLT OR SCREW, 300 SS, 1/4-14 , ) ,
53F X A36 1/8” (1) INCLUDES ELCO BI-FLEX 1420 8/PLATE 17 MIN 1/ 172
53H X A36 1/8” (1) BOLT, 300 SS 5/16-18 6/PLATE 1.5” MIN 1/8” 172"
, MIN SUBSTRATE
ITEM 54: MULLION ANGLE MOUNT ANCHOR, ROUGH OPENING HEIGHT > 96.5” DIAMETER | #REQ'D | MIN CENTERS
EMBED. MIN EDGE (3)
" » " » 3” EDGE 1
54A X 3KSI | 6”(1)@2 | HILTIKWIK BOLT TZ2 (KB-TZ2), 300 SS 172 5/ANGLE 6” MIN 3" NOM. 2 EDGE 2
2KSI | 8”NOMm. HILTI HIT-HY 100 EPOXY & , 8” HOR. MIN 5.625" )
S4E X GROUT | (1)@ THREADED ROD, 300 SS 5/8 B/ANGLE 7”VER. MIN ACT. 4125
3/16” (1) BOLT OR SCREW, 300 SS, ) " ) .
54H X A36 e INCLUDES ELCO BI-FLEX 1/4-20 | 10/ANGLE 1”7 MIN 3116 172
54 X A36 0('11)‘13) BOLT, 300 SS 5/16-18 | 3/ANGLE 17 MIN 0.144” 3/4”
ITEM 55: MULLION END PLATE ANCHOR, ROUGH OPENING HEIGHT <= 96.5” DIAMETER | #REQ'D | MIN CENTERS o R LR
: : =90 EMBED. MIN EDGE (3)
” . 6.25" & ) 2.5” EDGE 1
55A X 3Ksl 5" (1) HILTI KWIK BOLT TZ2, 300 SS 172 4/PLATE 6.5 NI 3" NOM. 3.5 EDGE 2
) BOLT OR SCREW, 300 S, 1/4-14 , y y
556 X A36 1/8”(1) INCLUDES ELGO BI-FLEX V420 6/PLATE 17 MIN 18 172
Y , MIN SUBSTRATE
ITEM 56: MULLION ANGLE MOUNT ANCHOR, ROUGH OPENING HEIGHT <= 96.5 DIAMETER | #REQ'D | MIN CENTERS
EMBED. MIN EDGE (3)
" » " » 3” EDGE 1
56A X 3Ksl | 57 (1)@ HILTI KWIK BOLT TZ2, 300 SS 172 4/ANG. 6” MIN 2.5” NOM. 27 EDGE 2
2KSI | 8”NOM. HILTI HIT-HY 100 EPOXY & ) 8” HOR. MIN 5.625” ,
S6E X GROUT | (1)@ THREADED ROD, 300 SS 5 6/ANG. | 6 95” VER. MIN ACT. 4125
0.160” BOLT OR SCREW, 300 SS, i , , ,
56F X A36 v INCLUDES ELCO BI-FLEX 1/4-20 6/ANG. 17 MIN 0.160 172
566 X A36 | 1/8" (1)) BOLT, 300 SS 5/16-18 6/ANG. 17 MIN 1/8” 3/4”
NOTES: (1) IN DIRECTION OF ANCHOR PENETRATION. (2) SUBSTRATE THICKNESS IS ONE PORTION OF OVERALL WALL DEPTH.
(3) EDGE 1 1S CLOSEST TO ANCHOR, AND EDGE 2 IS OPPOSITE EDGE 1. IF EDGE # NOT SPECIFIED, THEN MIN VALUE IS SAME TO BOTH EDGES.

®
A‘ AIROLI I E As a result of our commitment to continuous

The look that works.™ improvement, Airolite reserves the right to change

P.O. Box 410, 525 Western Road, Schofield, WI 54476-0410 USA specifications without notice.
715.841.8757 » fax 715.841.8773 » www.airolite.com

m 487078 » K6746MD Channel Installation, Rev. 1, Dec. 2024 Copyright 2024 © The Airolite Company LLC



